Pre-Calculus - Honors Lesson 72

Homework #72 Answers
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9) x* + y> = 1 center: (0, 0), vertical < b >
5 9 a = 3, vertices: (0, -3), (0, 3)
'c2=9-5=4,c =2, foci: (0, -2), (0, 2) - 2/
‘ Y
10) x> + y> = 1 center: (0, 0), horizontal, a = 8, vertices: (-8, 0), (8, 0)
64 28 c? = 64 - 28 = 36, c = 6, foci: (-6, 0), (6, 0) B
A :;7;\
11)(x + 3+ (y -5 =1 center: (-3, 5) |22
16 25 vertical it
a = 5, vertices: (0, -b), (0, 5) Lt
c2=25-16=9, ¢ = 3, foci: (0, -3), (0, 3) ' 41 3
| >f
RN AS B
13) (x + 5 + (y - 1) = 1 center: (-5, 1), horizontal A

9/4 1 a = 3/2, vertices: (-6.5, 1), (-3.5, 1)
¢ =9/4 -1 =5/4, c = \5/2, foci: (-5 + ¥6/2, 1), (-5 - V5/2, 1)

15) 9x® + 4y? + 36x - 24y + 36 = O
9 + 36x + 4y® - 24y = -36
9(x? + 4x) + 4(y® - 6y) = -36

9(x% + 4x + 4) + 4(y® - 6y + 9) = -36 + 36 + 36
9(x + 2)° + 4y - 3)* = 36
(x+2P%+(y-3%=1 - center: (-2, 3), vertical

4 9 _ a = 3, vertices: (-2, 0), (-2, 6)

=9 -4=5, c=15, foci: (-2, 3 +\5), (-2, 3 - VB)

16) 9x* + 4y? - 54x + 40y + 37 = 0
9x’ - 54x + 4y? + 40y = -37
90C - 6x) + 4(y? + 10y) = -37

90 - 6x + 9) + 4(y? + 10y + 25) = -37 + 81 + 100
9(x - 3) + 4(y + 5Y = 144
(x -3 +(y+5¥%=1 center: (3, -5), vertical
16 36 a = 6, vertices: (3, 1), (3, -11)

¢ = 36 - 16 = 20, ¢ = 25, foci: (3, -5 + 25), (3, -5 - 2VB)



